apa Jojelsiuiwpy s9auEng |ooyo
€c \g v\(ﬂ
:Ag paniwgng pue pasedaid
z8'99L°950°CL $ = 2T’SY6'esS'SL  $]92'6929¢8'CL | s9eysiellyl $ (z1 pue ‘L ‘g saul) spung ||V |ej0l €|
eveezior’t ¢ - 6%7°0v5'8/8'V 90'9€2'G26'V T6°.€5°09€°L ¢ (11 nuys g saur) spung Aduaby @ Isni| [ejol Z1
68°,6.'8.8 $ 12,80t 16'¥68'C G.'186'¥S8 $ Isni| yuswhodwaun Li
6£°2€9'G2S $ - z6'€.L'eS Ly'8sTeLy $ sbuineg Jawwng ol
86°06¢ $ 8€°0¢y'880'C 68'G26'L50'C 1y'68.'0¢ $ fouaby jjoiked 6
€TCIST $ veLr0'68.L'C veLr0'68.L'C gceis'e $ lloshed 8
spund Aouaby pue jsnif
85°19v'8.19 $ G9'8.5'crl 90'212'c8 L1°€28'6€L $ pund ssiiAjoy juspnig
88°'V6£'SZS $ 00°000°CLY 10'865'6C 18°96.'L06 $ pun4 asudiaz L
18'920°Stv'6 $ £ 80'9¢8'6LL°0L €T'81LT66L°L TL1¥89'69L° 1L $ (S nayy | saul) spung [eJUSWUIAA0Y [BJ0] 9
0.'981°62 $ - - 0,'981'6L $ 0. pund - pund 82lAI8S [BUISIU| S
00°226'%2) $ - - 002672t $ 0 pund - pund 8oIAISS 1q8Q 14
% $ - - - $ 0€ pun4 - pun4 sjosfoid (ended €
62°866°206 $ | 00ves'L L0°026°18¢ GL'OVL'09L°L 19°2£€'.2) $ 0T pun4 - pun4 anuaAay [e1oads 4
88°616'2€L'8 $ |(00've8't) 10'906°2£L'6 8y’ LLY'8c9'0 LresL'ver'tl ¢ 0l pund - pund [eJauag) L
Spund [ejuawWuIaA09)
aduejeg sjusuisnipy YIUOA Sty L YIuo adjuejeq SanNnd
yseo bugpug sjuswasingsig |[siyl sidiesay ysen| yseo Buiuuibag
ysed
poday yse)n
£20Z ‘0¢ aunr Buipu3 yjuo ayy o4
spund |iv
AVYNOIDI3Y 3IMid ISHYOH MOov1g
NOILYONAd3 40 yvog 3H1 OL
og Hoday Sjualivle}s JO UOIIRHI2U0IIY




